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n the figure. AD = CD and Al - ¢ ¥/
s congruent tangles (o show (ha
@) B ety ADC,

(A Cand DB are perpendicul
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;. Arcctangle is a special parallelogram with four right angles.
" riangles to show that its diagonals are equal.

Use congruent

6 (@ Is AADE congruent to ACBF? Give reason.
(b) Explain why

(i) ADEF = ABFE,

(ii) AABE = ACDF.
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1. (a) Is APAQ congruent to AQBO? Give reason.
(b) Show that
(i) APQR = AORQ,
(i) APDR = ARCO.

% Inthe figure, DE // BC and AD = AE. Show that
@ BD=CE,

®) BE=(p.




